Corner Brook Intermediate Math 9

Unit 4: Linear Relations Name:

4.2: Linear Relations
Worksheet

1. For each table of values below:
i) Does it represent a linear relation?
i) If the relation is not linear, explain how you know.
iii) If the relation is linear, describe it.
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2. Each table of values represents a linear relation.
Complete each table. Explain your reasoning.
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3. Create a table of values for each linear relation and then graph the relation.
Use values of x from -2 to 2.
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4. A computer repair company charges $80 for a service call, plus $50 an hour for labour.
a) Create a table to show the relation between the time in hours for the service call
and the total cost for 1 to 5 hours.
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b) Is this relation linear? Justify your answer.
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c) Let n represent the time in hours for the service call and C represent the total cost in
dollars. Write an equation that relates C and n.

d) How much will a 7-h service call cost?
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